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Note:- You have four choices for each objective type question as A; B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid 1s not allowed
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1 k 2 1 “ 9 1 )f
2 — L3 2 . 2 2 _ 2 _ o — Jy“ec —/1 ) 4
y? = kx y2 = x y ___F y? = F Iy e then: y 23
y a-+ b x+y v _ X a b -L&fjdg;ﬁa:bzx:yﬂ .5
P b -bh x- =
X g : g X v If a:b = x y Then invertendo property 1s:
_ {‘;, * x?+1 6
Ax+B € A B LA Brc A B wde J/dsz (x+1)(x-1)
Fre s B S G 17751 x4 171 | | x2+1
Partial fractions of arc of the form
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Point (~1,4) lies in the quadrant. o
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Subsect Smgifmn Power set Null set The set having only one element 1s called.
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Variance Mean Mode Median The measure which dete:_'mmes the middle most
observation in a data set is called.
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Harmonic Mean Mode Median Thc most frequent occuring observation in a data set

mean is called. -
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An arc Chord Diameter Radius The distance of any point of circle to its centre is called.
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Centre Diameter Chord Secant A circle has only one
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Over A pair of chords of a circle subtending two congruent
Parallel lapping Congruent | incongruent | central angles is
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4 1 3 2 How many common tangents can be drawn for
disjoint circles.
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